Left Semi derivations in Prime near-rings

 Dr. D. Bharathi¹, V. Ganesh²
 ¹ Associative Professor, Departmentt of Mathematics, S.V. University, Tirupati – A. P. bharathikavali@yahoo.co.in
 ² Research Scholar, Departmentt of Mathematics, S.V. University, Tirupati – A. P. vg_maths@rediffmail.com

Abstract:

Let *N* be a 2-torsion free prime near-ring. If *N* admits a non zero left semi derivation d with g such that (i)d[x, y] = 0 (ii) d[x, y] = [x, y] (iii) d[x, y] = -[x, y] (iv) d(x o y) = (x o y) (v) d(x o y) = -(x o y) $(vi) d[x, y] \in Z(N)$ $(vii) [d(x), y] \in Z(N)$ (viii) d(x)oy = xoy $(ix) d(x o y) \in Z(N)$ $(x) d(x) o y \in Z(N)$ (xi) d(x o y) = [x, y] (xii) d[x, y] = (x o y), for all $x, y \in N$, then *N* is a commutative ring.

Keywords: Prime near-ring, semiderivation, left semiderivation, commutativity.

1. Introduction

In this paper *N* will denote a zero symmetric right near –ring (i.e., a right near ring *N* satisfying the property x.0 = 0 for all $x \in N$). Note that right distributivity in *N* gives 0.x = 0 for all $x \in N$. For any x, $y \in N$ the symbol [x, y] will denote the commutator xy-yx. While the symbol $x \circ y$ will stands for the anti-commutator xy + yx. The symbol Z(N) will represent the multiplicative center of *N*, that is $Z(N) = \{x \in N / xy = yx \text{ for all } y \in N\}$. An additive mapping $d: N \to N$ is said to be a derivation if d(xy) = xd(y) + d(x)y for all $x, y \in N$, or equivalently, as noted in ^[17] that d(xy) = d(x)y + xd(y) for all $x, y \in N$. An additive mapping $d: N \to N$ is said to be a left derivation if d(xy) = xd(y) + yd(x) for all $x, y \in N$.

In ^[2] J.Bergen has introduced the notion of semiderivations of a ring R which extends the notion of derivations of a ring R. An additive mapping $d: R \to R$ is called a semiderivation if there exists a function $g: R \to R$ such that (i) d(xy) = d(x)g(y) + x d(y) =d(x)y + g(x)d(y) and (ii)d(g(x)) = g(d(x)) holds for all $x, y \in R$. In case g is an identity map of R then all semiderivations associated with g are merely ordinary derivations. On the other hand, if g is a homomorphism of R such that $g \neq 1$ then d = g - 1 is a semiderivation which is not a derivation. In case R is a Prime and $d \neq 0$, it has been shown by Chang ^[3] that g must necessarily be a ring endomorphism.

An additive mapping $d: N \to N$ is called a semiderivation if there exists a surjective function $g: N \to N$ such that (i) d(xy) = d(x)g(y) + x d(y) = d(x)y + g(x)d(y) and (ii) d(g(x)) = g(d(x)) holds for all $x, y \in N$ An additive mapping $d: N \to N$ is called a left semiderivation

if there exists a surjective function g: $N \rightarrow N$ such that (i) d(xy) = xd(y) + g(y)d(x) = g(x)d(y) + y d(x) and (ii) d(g(x)) = g(d(x)) holds for all x, $y \in N$.

According to ^[10], a near-ring *N* is said to be prime if $x N y = \{0\}$ for all $x, y \in N$ implies x=0 or y=0. Recently there has been a great deal of wok concerning commutativity of prime and semi-prime rings with derivations satisfying certain differential identities (see[4,9,11,16] for reference where further references can be found). In view of these results many authors have investigated commutativity of prime near-rings satisfying certain polynomial conditions(see^{[5-8, 10-15, 17],} etc.). In ^[1] authors investigated on Semiderivations and commutativity in prime rings. In the present paper it is shown that near-rings with left semiderivations satisfying certain identities are commutative rings.

2. Main result

Lemma 1:- Let *N* be a 2-torsion free prime near-ring, and *d* a non zero left semi derivation with *g* of *N* and $a \in N$. If ad(N)=0, then a=0. **Proof:**

> Suppose that ad(N)=0. For arbitrary $x, y \in N$ we have ad(xy) = 0 a xd(y) + ag(y)d(x) = 0Replace y by x in the above equation and g is on to we get 2axd(x)=0Since N is a 2-torsion free near -ring, we get axd(x) = 0 for all x, $y \in N$ Since N is prime near ring and $d \neq 0$, we get a = 0.

Lemma 2:- Let *N* be a 2-torsion free prime near-ring, and *d* a non zero left semiderivation with *g* of *N*. If $d^2 = 0$, then d=0.

Proof:

For arbitrary x,
$$y \in N$$
 we have

$$d^{2}(xy) = 0$$

$$d(d(xy)) = 0$$

$$d(xd(y) + g(y) d(x)) = 0$$

$$xd^{2}(y) + g(d(y))d(x) + g(y)d^{2}(x) + g(d(x))d(g(y)) = 0 \text{ for all } x, y \in N$$

By hypothesis,

g(d(y))d(x) + g(d(x))d(g(y)) = 0and g is on to we have d(y)d(x) + d(x)d(y) = 0Replace y by x in the above equation $2d(x)d(x) = 0, \quad \text{for all } x, y \in N$ Since N is a2-torsion free prime near-ring ,we get

d(x)d(N) = 0, for all $x \in N$ Using Lemma 1 we get d = 0.

Lemma 3:- Let *N* be a prime near-ring, and *d* a non zero left semi derivation with *g* of *N*. If $d(N) \subset Z(N)$, then (N, +) is Abelian. Moreover, if *N* is 2-torsion free, then *N* is commutative ring.

Proof:

Suppose that $a \in N$ such that $d(a) \neq 0$, So, $d(a) \in Z(N) \setminus \{0\}$ and $d(a) + d(a) \in Z(N) \setminus \{0\}$.

For all *x* , $y \in N$, we have

(d(a) + d(a)) (x + y) = (x + y) (d(a) + d(a))

That is,

d(a)x+d(a)x+d(a)y+d(a)y = xd(a)+yd(a)+xd(a)+yd(a)Since $d(a) \in Z(N)$, we get xd(a) + yd(a) = yd(a) + xd(a)(x, y)d(a) = 0 for all x, $y \in N$

Since $d(a) \in Z(N) \setminus \{0\}$ and N is a prime near-ring, we get (x, y) = 0, for all x, $y \in N$

Thus (N, +) is Abelian.

Now using hypothesis, for any $a,b,c \in N$,

cd(ab) = d(ab)c cad(b) + cg(b)d(a) = ad(b)c + g(b)d(a)cUsing $d(N) \subset Z(N)$ and (N, +) is Abelian, we obtain that cad(b) + cg(b)d(a) = acd(b) + g(b)cd(a) $[c,a] d(b) = [g(b), c] d(a) \quad \text{for all } a,b,c \in N$

Suppose now that *N* is not commutative. Choosing *b*, *c* $\in N$ such that $[g(b), c] \neq 0$ and replacing *a* by $d(a) \in Z(N)$, we get

 $[g(b), c]d^{2}(a) = 0 \text{ for all } a, b, c \in N$ Since g is on to we have $[b, c] d^{2}(a) = 0 \text{ for all } a, b, c \in N$ $d^{2}(a) \in Z(N), \text{ we conclude that } d^{2}(a) = 0, \text{ for all } a \in N, \text{ and so } d=0 \text{ by lemma } 2.$ **Theorem 1:** Let *N* be a 2-torsion free prime near-ring. If *N* admits a non zero left semi derivation *d* with *g* such that d[x, y] = 0, for all $x, y \in N$, then *N* is a commutative ring. **Proof:**

Suppose
$$d[x, y] = 0$$
 for all $x, y \in N$ (1)
Replace y by yx in (1), we get
 $d[x, yx] = 0$
 $d([x, y]x) = 0$
 $[x, y]d(x) + g(x) d[x, y] = 0$
Using (1) implies $[x, y]d(x) = 0$ for all $x, y \in N$ (2)
Replace y by yt in (2), we get
 $[x, yt]d(x) = 0$ for all $x, t \in N$
 $y [x, t]d(x) + [x, y] t d(x) = 0$ for all $x, y, t \in N$
Using (2) implies $[x, y] t d(x) = 0$ for all $x, y, t \in N$
 $[x, y] N d(x) = 0$ for all $x, y \in N$ (3)
Since N is prime near-ring equation (3) reduces to
 $[x, y] = 0$ or $d(x) = 0$ for all $x, y \in N$ (4)
From equation (4) it follows that for each fixed $x \in N$ we have
 $d(x) = 0$ or $x \in Z(N)$ (5)
But $x \in Z(N)$ also implies that $d(x) \in Z(N)$ for all $x \in N$ (6)
In light of (6), $d(N) \subset Z(N)$ and using lemma 3
We conclude that N is a commutative ring.

Theorem 2 :- Let N be a 2-torsion free prime near-ring. If N admits a non zero left semi derivation d with g such that

$$d[x, y] = [x, y], \text{ for all } x, y \in N$$
$$d[x, y] = -[x, y], \text{ for all } x, y \in N, \text{ then } N \text{ is a commutative ring.}$$

Proof:



The rest of the proof is as in the proof of theorem 2(i).

Theorem 3: Let N be a 2-torsion free prime near-ring. If N admits a non zero left semi derivation d with g such that

$$d(x \circ y) = (x \circ y)$$
, for all $x, y \in N$

 $d(x \circ y) = -(x \circ y)$, for all $x, y \in N$, then N is a commutative ring.

Proof:

(i) By hypothesis
$$d(x \circ y) = (x \circ y)$$
, for all $x, y \in N$ (15)
Replace y by xy in (15)
 $d(x \circ xy) = (x \circ xy)$
 $d(x(x \circ y)) = x(x \circ y)$
 $x d(x \circ y) + g(x \circ y) d(x) = x (x \circ y)$
Using (15) in the above equation, we get
 $g(x \circ y) d(x) = 0$ for all $x, y \in N$
 $g(xy) d(x) = -g(yx)d(x)$ (16)
Replace y by yz in (16)
 $g(xyz) d(x) = -g(yzx) d(x)$ for all $x, y, z \in N$
 $= -g(y)g(zx)d(x)$
 $= g(yz) d(x)$
 $= g(yzz) d(x)$
 $g(xy-yx) g(z)d(x) = 0$
 $g[x, y] g(z) d(x) = 0$ for all $x, y, z \in N$
 $g[x, y] N d(x) = 0$ for all $x, y \in N$
Since g is on to we have, $[x, y] N d(x) = 0$ for all $x, y \in N$ (17)
Since N is prime, equation (17) yields,
 $d(x) = 0$ or $[x, y] = 0$ for all $x, y \in N$ (18)
from (18) it follows that for each fixed $x \in N$ we have
 $d(x) = 0$ or $x \in Z(N)$ (19)
But $x \in Z(N)$ also implies that $d(x) \in Z(N)$ for all $x \in N$ (20)
In light of (20), $d(N) \subset Z(N)$ and using lemma 3
We conclude that N is a commutative ring.

(ii) By hypothesis $d(x \circ y) = -(x \circ y)$, for all $x, y \in N$ (21)

Replace y by xy in (15)

$$d(x \circ xy) = -(x \circ xy)$$

$$d(x(x \circ y)) = -x(x \circ y)$$

$$x d(x \circ y) + g(x \circ y) d(x) = -x(x \circ y)$$
Using (21) in the above equation, we get

$$g(x \circ y) d(x) = 0 \text{ for all } x, y \in N$$

The rest of the proof is as in the proof of theorem 3(i).

Theorem 4: Let *N* be a 2-torsion free prime near-ring which admits a non zero left semi derivation *d* with *g* such that $d[x, y] \in Z(N)$, for all $x, y \in N$, then either d(Z(N)) = 0 or *N* is a commutative ring.

Proof:

Given that $d[x, y] \in Z(N)$ for all $x, y \in N$ (22)(a) If $Z(N) = \{0\}$, it follows that d[x, y] = 0, for all $x, y \in N$ By Theorem 1 we conclude that N is a commutative ring. (b) If $Z(N) \neq \{0\}$, replace y by yz in (22), where $z \in Z(N)$ we get $d[x, yz] \in Z(N)$, for all $x, y \in N$, $z \in Z(N)$ $d([x, y]z) + d(y[x, z]) \in Z(N),$ Since $z \in Z(N)$ implies $d([x, y | z) \in Z(N)$ $[x, y] d(z) + g(z) d[x, y] \in Z(N)$, for all $x, y \in N$, $z \in Z(N)$ (23)Since $d[x, y] \in Z(N)$ and $z \in Z(N)$, equation (23) reduces to $[x, y] d(z) \in Z(N)$, for all $x, y \in N$, $z \in Z(N)$ Accordingly [[x, y] d(z), t] = 0 for all $t \in N$ [x, y] [d(z), t] + [[x, y], t] d(z) = 0 for all x, y, $t \in N$, $z \in Z(N)$ [[x, y], t] d(z) = 0 for all x, y, $t \in N$, $z \in Z(N)$ (24)Replace t by tr, for all $t, r \in N$, we get [[x, y], t] r d(z) + r [[x, y], t] d(z) = 0 for all x, y, $t \in N$, $z \in Z(N)$ Using (24) in the above equation, we get [[x, y], t] r d(z) = 0 for all x, y, $t \in N$, $z \in Z(N)$ $[[x, y], t] N d(z) = 0 \quad \text{for all } x, y, t \in N, z \in Z(N)$ (25)

Using primeness of N, from (25) it follows that

 $d(Z(N)) = \{0\}$ or [[x, y], t] = 0 for all x, y, $t \in N$ Assume that [[x, y], t] = 0 for all x, y, $t \in N$, substituting yx for y, we get [[x, y]x, t] = 0 and therefore [x, y][x, t] = 0 for all x, y, $t \in N$ As $[x, y] \in Z(N)$, hence [x, y] N [x, y] = 0 for all $x, y \in N$ (26)In light of the primeness of N, Eq.(26) shows that [x, y] = 0 and hence $x \in Z(N)$ Accordingly, $d(x) \in Z(N)$, for all $x \in N$ (27)Once again using lemma 3, we get N is a commutative ring.

Theorem 5:- Let N be a prime near-ring which admits a non zero left semi derivation d with g, if $[d(x), y] \in Z(N)$, for all $x, y \in N$, then N is a commutative ring. **Proof:**

- Assume that $[d(x), y] \in Z(N)$, for all $x, y \in N$ (28)
- Hence [[d(x), y], t] = 0, for all x, y, $t \in N$ (29)

Replacing y by
$$yd(x)$$
 in (29) we find that

$$[[d(x), y]d(x), t] = 0, \text{ for all } x, y, t \in N$$
(30)

In view of (28), Eq.(30) assures that

$$[d(x), y] N [d(x), y] = \{0\}, \text{ for all } x, y \in N$$
(31)

By primeness of N Equation (31) shows that

$$[d(x), y] = 0$$
, for all $x, y \in N$

Hence $d(N) \subset Z(N)$ and application of lemma 3 assures that N is a commutative ring.

Theorem 6: Let N be a 2-torsion free prime near-ring then there exists a non zero left semi derivation d with g of N such that $d(x) \circ y = x \circ y$ for all $x, y \in N$, then N is a commutative ring.

Proof:

Suppose that
$$d(x) \circ y = x \circ y$$
 for all $x, y \in N$ (32)
Replacing x by yx in (32) we obtain
 $d(yx) \circ y = yx \circ y$

$$d(yx) \circ y = y (x \circ y)$$
Using eq.(32) implies

$$d(yx) \circ y = y (d(x) \circ y)$$

$$d(yx) y + y d(yx) = y d(x) y + y^{2} d(x)$$

$$y d(x) y + g(x)d(y)y + y^{2} d(x) + y g(x)d(y) = y d(x) y + y^{2} d(x)$$

$$g(x)d(y)y + y g(x)d(y) = 0$$
Since g is on to we have $x d(y) y + yx d(y) = 0$

$$yx d(y) = -x d(y) y \text{ for all } x, y \in N$$
(33)
Replacing x by xz in (33), we find that

$$yxzd(y) = -xzd(y)y$$

$$= -x(zd(y)y) = -x(-yzd(y)) = -x(-y)zd(y) \text{ for all } x, y, z \in N$$

The last expression reduced to

$$yxzd(y) = -x(-y)zd(y) \text{ for all } x, y, z \in N$$
(34)

Since
$$-yxzd(y) = (-y)xzd(y)$$
, (34) becomes
 $(-y)xzd(y) = x(-y)zd(y)$, for all $x, y, z \in N$ (35)
Taking $-y$ instead of y in (35) we obtain
 $yxzd(-y) = xyzd(-y)$ for all $x, y, z \in N$
So that $(yx-xy)zd(-y) = 0$ and therefore
 $[y, x] N d(-y) = \{0\}$ for all $x, y \in N$ (36)
By primeness, Eq.(36) assures that for each $y \in N$, either $y \in Z(N)$ or $d(-y) = 0$.

Accordingly,
$$d(y) = 0$$
 or $y \in Z(N)$ for all $y \in N$ (37)

Since Eq.(37) is the same as Eq.(11), arguing as in the proof of Theorem 2 we conclude that N is a commutative ring.

Theorem 7: Let *N* be a 2-torsion free prime near-ring which admits a non zero left semi derivation *d* with *g* such that $d(x \circ y) \in Z(N)$, for all $x, y \in N$, then *N* is a commutative ring. **Proof:**

Suppose that
$$d(x \circ y) \in Z(N)$$
, for all $x, y \in N$ (38)
(a) If $Z(N) = \{0\}$, then $d(x \circ y) = 0$ and replacing y by yx we obtain
 $d(x \circ yx) = 0$

$$d((x \circ y)x) = 0$$

$$(x \circ y)d(x) + g(x)d(x \circ y) = 0, \text{ since } d(x \circ y) = 0 \text{ implies}$$

$$(x \circ y)d(x) = 0 \text{ for all } x, y \in N \text{ and thus}$$

$$xyd(x) = -yxd(x) \text{ for all } x, y \in N$$

$$Substituting yz \text{ for } y \text{ in } (39), \text{ we have}$$

$$xyxd(x) = -yzxd(x) = -y (-xzd(x)) = -y (-x)zd(x) \text{ for all } x, y, z \in N$$

$$(39)$$

this means that

$$xyxd(x) = -y(-x)zd(x) \text{ for all } x, y, z \in N$$
(40)

Since
$$-xyzd(x) = (-x)yzd(x)$$
, then (40) becomes

$$(-x)yzd(x) = y(-x)zd(x) \text{ for all } x, y, z \in N$$

$$(41)$$

Then
$$[-x, y] z d(x) = 0$$
 for all $x, y, z \in N$ (42)

Taking
$$-x$$
 instead of x in (42) gives

$$[x, y] z d(-x) = 0 \text{ for all } x, y, z \in N$$
(43)

Accordingly,
$$[x, y] N d(-x) = 0$$
 for all x,y,z (44)

Since Eq.(44) is the same as Eq.(36), arguing as in the proof of Theorem 6, we conclude that N is a commutative ring.

(b) If
$$Z(N) \neq \{0\}$$
, replace y by yz in (38), where $z \in Z(N)$ weget
 $d(x \circ yz) \in Z(N)$
 $d((xoy)z - y[x, z]) \in Z(N)$
Since $z \in Z(N)$ implies, $d((xoy)z) \in Z(N)$
 $(xoy)d(z) + g(z)d(xoy) \in Z(N)$, for all $x, y \in N, z \in Z(N)$ (45)
Using $d[x, y] \in Z(N)$ and $z \in Z(N)$, equation (45) reduces to
 $(xoy) d(z) \in Z(N)$, for all $x, y \in N, z \in Z(N)$ (46)
Since $d(z) \in Z(N)$, (46) yields that
 $[(xoy) d(z), t] = 0$ for all $x, y, t \in N, z \in Z(N)$
 $(xoy) [d(z), t] + [(xoy), t] d(z) = 0$,
Since $d(z) \in Z(N)$ implies $[(xoy), t] d(z) = 0$, so
 $[(xoy), t] N d(z) = 0$ for all $x, y, t \in N, z \in Z(N)$ (47)
By primeness of N Eq.(47) forces
either $d(Z(N)) = \{0\}$ or $xoy \in Z(N)$ for all $x, y \in N$ (48)

Suppose that d(Z(N)) = 0. If $0 \neq y \in Z(N)$ Since $d(xoy) = d(xy+yx) \in Z(N) = xd(y) + g(y)d(x) + yd(x) + g(x)d(y) \in Z(N)$,

Since $y \in Z(N)$, g is onto we have

$$d(x \circ y) = d(x)y + d(x)y \in Z(N), \text{ then } d(d(x)y + d(x)y) = 0 \text{ and hence}$$
$$(d^{2}(x) + d^{2}(x)) y = 0 \text{ for all } x \in N$$
(49)

Using the fact that $0 \neq y \in Z(N)$, Eq.(49) leads to $d^2(x) = 0$ for all $x \in N$.

So that $d^2 = 0$ and lemma 2 forces d = 0, a contradiction. Accordingly, we have

 $x \circ y \in Z(N)$ for all $x, y \in N$.

Let $0 \neq y \in Z(N)$, from $x \circ y = y (x + x)$.

 $x^2 o y = y (x^2 + x^2)$ it follows, because of the primeness, that

 $(x + x) xt = (x^2 + x^2)t = t(x^2 + x^2) = t(x + x)x = (x + x)tx$ for all x, $t \in N$.

and therefore

$$(x + x) N [x, t] = \{0\}$$
 for all $x, t \in N$. (50)

Once again using the primeness hypothesis, Eq.(50) yields

 $x \in Z(N)$ or 2x = 0 in which case 2-torsion freeness forces x = 0.

Consequently, in both cases we arrive at $x \in Z(N)$ for all $x \in N$.

Hence $d(Z) \subset Z(N)$ and lemma 3 assures that N is a commutative ring.

Theorem 8: Let *N* be a 2-torsion free prime near-ring which admits a non zero left semi derivation *d* with *g* such that $d(x) \circ y \in Z(N)$, for all $x, y \in N$, then *N* is a commutative ring. **Proof:**

Assume that
$$d(x) \circ y \in Z(N)$$
, for all $x, y \in N$ (51)

(a) If Z(N) = 0, then Eq.(51) reduces to

$$d(x)y = -yd(x) \quad \text{for all } x, y \in N \tag{52}$$

Substituting yz for y in (52) we obtain

$$d(x)yz = -yzd(x) = (-y)zd(x) = (-y)(-d(x)z) = (-y)d(-x)z$$
 for all x, y, z $\in N$

in such a way

$$(d(x)y+yd(-x))z = 0 \text{ for all } x, y, z \in N$$
(53)

Taking -x instead of x in (53) we get

$$(-d(x)y + yd(x)) N z = \{0\} \text{ for all } x, y, z \in N$$
 (54)

Since *N* is prime, Eq.(54) forces $d(N) \subset Z(N)$ and lemma 3 it follows that *N* is a commutative ring.

(b) Suppose that $Z(N) \neq \{0\}$. If $0 \neq z \in Z(N)$, then since $d(x) \circ z \in Z(N)$, we find that $d(x)z + zd(x) \in Z(N)$

Since
$$z \in Z(N)$$
 implies $d(x) + d(x) \in Z(N)$ for all $x \in N$ (55)
More over from (51) it follows
 $d(x + x)y + y d(x + x) \in Z(N)$ which, because of (55) yields that
 $(d(x + x) + d(x + x)) y \in Z(N)$ for all $x, y, z \in N$
and therefore, for all $t, x, y \in N$ we have
 $(d(x + x) + d(x + x)) ty = y (d(x + x) + d(x + x))t$
 $= (d(x + x) + d(x + x)) yt$ for all $x, t \in N$

So that

$$(d(x + x) + d(x + x)) N[t, y] = \{0\} \text{ for all } t, x, y \in N$$
(56)

In view of the primeness of N Eq.(56) implies that either d(x + x) + d(x + x) = 0 and thus

d=0, a contradiction, or $N \subset Z(N)$ in which case $d(N) \subset Z(N)$, then by lemma 3, *N* is a commutating ring.

Theorem 9: Let *N* be a 2-torsion free prime near-ring which admits a non zero left semi derivation *d* with *g* such that $d(x \circ y) = [x, y]$ for all $x, y \in N$, then *N* is a commutative ring.

Proof:

We have
$$d(x \circ y) = [x, y]$$
 for all $x, y \in N$ (57)
Replacing y by xy in (57), we get
 $d(x(x \circ y)) = x[x, y]$
 $x d(x \circ y) + g(x \circ y)d(x) = x[x, y]$
Since g is on to and using (57) we get
 $(x \circ y) d(x) = 0$ for all $x, y \in N$ (58)
Replacing y by zy in (58) we find that
 $(x(zy) + (zy)x)d(x) = 0$ for all $x, y, z \in N$
Now application of (58) yields that $yxd(x) = -xyd(x)$

Combining this fact together with the latter relation we arrive at

$$(xz + z(-x))yd(x) = 0 \text{ for all } x, y, z \in N$$

$$[x, z] y d(x) = 0 \text{ for all } x, y, z \in N$$

$$[x, z] N d(x) = 0 \text{ for all } x, z \in N$$
(59)

But since N is a prime near-ring ,for which fixed $x \in N$ either

$$d(x) = 0$$
 or $x \in Z(N)$ for all $x \in N$

Hence using similar arguments as used after Eq.(5) we find that N is a commutative ring.

In this case (57) and 2-torsion freeness implies that

$$d(xy) = 0 \text{ for all } x, y \in N \tag{60}$$

this means that xd(y) + g(y)d(x) = 0 for all $x, y \in N$ (61)

putting x by xz in (61) and using(60), we get

$$x z d(y) = 0$$
 which implies $x N d(y) = \{0\}$ for all $x, y \in N$

Since *N* is a prime and $d \neq 0$, then x = 0 for $x \in N$, a contradiction.

Theorem 10: Let *N* be a 2-torsion free prime near-ring which admits a non zero left semi derivation *d* with *g* such that $d[x, y] = (x \circ y)$ for all $x, y \in N$, then *N* is a commutative ring.

Proof:

We have
$$d[x, y] = (x \circ y)$$
 for all $x, y \in N$ (62)
Replacing y by xy in (62), we get
 $d(x[x, y]) = x(x \circ y)$
 $x d[x, y] + g[x, y]d(x) = x(x \circ y)$
Since g is on to and using (61) we get
 $[x, y] d(x) = 0$ for all $x, y \in N$ (63)
Replacing y by yz in (63), we get
 $[x, y] N d(x) = 0$ for all $x, y \in N$ (64)

Since Eq.(64) is the same as Eq.(59), arguing as in the proof of Theorem 9 we get the required result.

References

- 1. H.E. Bell and W.S.Martindale, Semiderivations and commutativity in prime rings, Canad Math. Bull, 31(1988), 500-508.
- 2. J.Bergen, Derivations in prime rings, Canad Math. Bull, 26(1983), 267-270.
- 3. J.C. Chang, on semiderivations of prime rings, Chinese J. Math, 12(1984), 255-262.
- M. Ashraf, Nadeem-ur-Rehman, On commutativity of rings withderivations, Results Math. 12 (2002) 3–8.
- 5. M. Ashraf, A. Shakir, On (σ, τ) -derivations of prime near-rings, Arch. Math. (Brno) 40 (2004) 281–286.
- 6. M. Ashraf, A. Shakir, On (σ, τ) -derivations of prime near-rings-II,Sarajevo J. Math. 4 16) (2008) 23–30.
- K.I. Beidar, Y. Fong, X.K. Wang, Posner and Herstein theoremsfor derivations of 3prime near-rings, Commun. Algebra 24 (5)(1996) 1581–1589.
- 8. H.E. Bell, Certain near-rings are rings, J. Lond. Math. Soc. 4(1971) 264–270.
- H.E. Bell, M.N. Daif, Commutativity and strong commutativitypreserving maps, Can. Math. Bull. 37 (1994) 443–447.
- 10.H.E. Bell, G. Mason, On derivations in near-rings, North-HolandMath. Stud. 137 (1987) 31–35.
- 11.H.E. Bell, G. Mason, On derivations in near-rings and rings, Math.J. Okayama Univ. 34 1992) 135–144.
- 12.H.E. Bell, A. Boua, L. Oukhtite, On derivation of prime near-rings, Afr. Diaspora J Math. 14 (2012) 65–72.
- 13.H.E. Bell, A. Boua, L. Oukhtite, Differential identities on semi-group ideals of right near-rings, Asian Eur. J. Math. 6 (4) (2013)1350050 (8 pages).
- 14.H.E. Bell, A. Boua, L. Oukhtite, Semigroup ideals and com-mutativity in 3-prime near rings, Commun. Algebra (2013), toappear.
- 15.A. Boua, L. Oukhtite, Derivations on prime near-rings, Int. J.Open Probl. Comput. Sci. ath. 4 (2) (2011) 162–167.
- 16.M.N. Daif, H.E. Bell, Remarks on derivation on semiprime rings, Int. J. Math. Math. Sci. 15 (1992) 205–206.
- 17.X.K. Wang, Derivations in prime near-rings, Proc. Am. Math.Soc. 121 (1994) 361–366.

Acknowledgement:

The second author express the deep sense of gratitude to the research supervisor Dr. D. Bharathi, Associate Professor, Department of Mathematics, S. V. University, Tirupati, India, for suggesting this problem for investigation. It is solely due to her immense interest,

competence and exceptional guidance, critical analysis, enlightened discussions and concrete suggestions which cumulatively are responsible for the successful execution of this work.

Profile of authors:



D. Bharathi received her Ph. D. degree from Sri Krishna Devaraya University, A. India I n 2007. She is currently working as associate professor in the Dept. of M athematics, S. V. University, Tirupati. She published eight papers in National and international journals. Also she attended several national and International conferences.



Mr. V.Ganesh is currently working as a research scholar in the Department of Mathematics, Sri Venkateswara University, Tirupati.